Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 0%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel: b*
hap,¢=[38. 96, 151, 236, 305/ 86~ 2 gt [
hap (26, 92, 162, 217, 272, 329, Crapalata +b%"]

a*5=Cap,a C0S by
b*3=C*ap,aSin hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 0%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel: b*
hap,¢=[38. 96, 151, 236, 305/ 86~ 2 gt [
hap (26, 92, 162, 217, 272, 329) Crapalata +b%]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 0,6%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
Crapalars +b%a’] V2

CIELAB-Bunttonwinkel: b*
hap =[38, 96, 151, 236, 305YB&HL 2
hap (26, 92, 162, 217, 272, 329]“

~
a*5=Cap,a C0S hy

b*5=C*ap a SN ey

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 0,6%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hay,¢=[38, 96, 151, 236, 305Y B84 [0y
hay (26, 92, 162, 217, 272, 329) Gplars s o]
=
~

a*5=Cap,a €0S
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 1,2%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305/ BFAL SN A
hap, 126, 92, 162, 217, 272, 329] aba”[ @*a a ]

a*5=Cap,a C0S hy
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 1,2%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
Crapalars +b%a’] V2

CIELAB-Bunttonwinkel:
hap=[38, 96, 151, 236, 305y BFA]
hap (26, 92, 162, 217, 272, 329]

a*5=Cap,a €0S
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

LG43_LECD display_1 2,5%_Fadin P ap=(L* =L )/ Gy -L*N)

CIELAB-Bunttonwinkel: =at —aty ~ gy [@'w —a'n ]
b*N = apr [b*w —b*\ ]

b*a  przbr -
hap =[38, 96, 151, 236, 305\@?;? - lar 2+ bt 2] 2
aba a

hap 126, 92, 162, 217, 272,
—

a*5=Cap,a COS
b*5=C*ap a SN ey

Buntheit
a a

e

|
|
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 2,5%_Fadit Pl =(L* =L*N )/ Cw-L*n)

=a* —ary - I*

« [afy —a*
CIELAB-Bunttonwinkel: =it [ "w *N]
= b*N = Pjan [b*w - by ]

hap, =[38, 96, 151, 236, 305\@;3 b*;=b* o [0yt
hap (26, 92, 162, 217, 272, C*ab‘a:[ ar,t +b* %]

a*5=Cap,a C0S hy

b*5=C*ap a SN ey

Buntheit
a a




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 5%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap =[38, 96, 151, 236, 305, 354] o [0
hap (26, 92, 162, 217, 272329] C*ab‘a:[ ar,t +b* %]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 5%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap =[38, 96, 151, 236, 305, 354] o [0
hap (26, 92, 162, 217, 272Y329] C*ab‘a:[ ar,t +b* %]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 10%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:

hap,¢=[38, 96, 151, 236, 305, 354] gt [

hap 26, 92, 162, 217, 272, 329 Crapalaa” +b*3"]
YOOL

a*5=C*ap,a COS Iy

b*3=C*ap,aSin hap

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 10%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap,¢=[38, 96, 151, 236, 305, 354] gt [
hap, 126, 92, 162, 217, 272, 329] Crapalaa” +b*a"]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 20%_Fadin

Flap=(L* =L*n) [ (w -L*n)
Hamat —aty ~ Fpapr [@fw —a*n ]
b*5=b* = b*y = japs [ b¥y —b¥y]
P AT
Craprlara +b%2] "

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272, 329]

a*5=Cap,a C0S by
o b*5=C*ap a SN ey
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 20%_Fadit Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap,¢=[38, 96, 151, 236, 305, 354] gt [
hap, 126, 92, 162, 217, 272, 329] Crapalaa” +b*a"]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG43_LECD display_1 40%_Fadin Pl =(L* =L*N )/ Cw-L*n)
atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
12

CIELAB-Bunttonwinkel:
hap,¢=[38, 96, 151, 236, 305, 354] gt [
hap, 126, 92, 162, 217, 272, 329] Crapalaa” +b*a"]

a*5=Cap,a C0S by
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (alCIELAB ( C*yp 5 L*)

LG43_LECD display_1 40%_Fadit
CIELAB-Bunttonwinkel:

hap,=[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272, 329]

i

YOOL

B =L =L 0 = L )
atg=ar —ary — Mgy [afw —a*y]
b*a=b* = b*y = i [b*w —b*y ]
P AT
Craparlata’ +b%7 1"
a*5=Cap,a C0S by

b*5=C*ap a SN ey

Buntheit
a*,




